NR BUCHUNGSSATZ | SOLL | HABEN

1 | Rohstoffe 20000

Vorsteuer 3800
an Verbindlichkeiten 23800

2 | Forderungen 83300
an Umsatzerl6se 70000
an Umsatzsteuer 13300

3| SBK 40000
an Unfertige Erzeugnisse 40000

SBK 60000
an Fertigerzeugnisse 60000

Bestandsveranderungen 20000
an Unfertige Erzeugnisse 20000

Fertigerzeugnisse 30000
an Bestandsveranderungen 30000

4 | SBK 35000
an Rohstoffe 35000

Rohstoffaufwand 25000
an Rohstoffe 25000

5| GuVv 25000
An Rohstoffaufwand 25000

6 | Umsatzerlose 70000
an GuV 70000

Bestandsverdnderungen 10000
an GuV 10000

7| GuVv 55000
An Eigenkapital 55000

8 | Umsatzsteuer 3800
an Vorsteuer 3800

Umsatzsteuer 9500
an SBK 9500

9| SBK 93300
an Forderungen 93300

10 | Eigenkapital 155000

Verbindlichkeiten 63800
an SBK 218800




